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Answer any FIVE Questions
All Questions carry equal marks
* % * * K

(a) With neat sketch explain the working of center tap full wave rectifier?

(b) In center tap full wave rectifier, the maximum voltage across half of secondary
winding is 50V and load resistance is 200 ohms. Find the averag | voltage
and PIV 7 Assume the diodes to be ideal.

(a) Discuss the classification of electrical measuring ingbru ployed for
measurement of current.

(b) Explain the significance of controlling torquag an ing torque relevant to
the Operation of indicating instruments? [6+10]

(a) Give the applications of self excited ge

0 ave connected armature conductors
and running at 500 rp liesta load of 12.5¢ resistance at terminal voltage
of 50V. The arma esistamce is 0.24€2 and the field resistance is 250€2. Find
the armature cur induced emf and the flux per pole. [6+10]

(b) An 8 pole d.c. shunt gene

(a
(

) Explaingth uctional details of a Transformer with neat sketches.
)
fre

b) Thé requ oltage ratio in a single Phase Transformer is 5000 v/250 v.
S ency is 50 Hz. Find the number of turns in each winding if the
flux % to be about 0.05 wb. [8+8]

(a) Explain why an induction motor cannot develop torque when running at Syn-
chronous speed?

(b) Explain clearly what you understand by slip-torque characteristics. Indicate
the Normal operating region in the above characteristics? [8+8]

(a) How is the electron beam focused to a fine spot on the face of the cathode ray
tube?

(b) Why is an attenuator probe used for measurements with oscilloscope?

(c) What is delayed sweep? Why it is used in oscilloscopes? [6-+4+6]

b) Apply KCL and KVL to determine current through 1€ resistor in the network

shown in figure 7b. [6+10]

)

)
(a) State and explain Kirchoff’s laws.
(b)
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8. (a) The transistor has Icpo = 48nA and o = 0.992.

i. Find 8 and Icgo?

ii. Find its collector current when Ip = 30 pA ?

iii. Find the approximate collector current negleéting leakage current?

(b) Draw and explain the input and output characteristies of Common Base Con-

figuration.

* Kk K Kk k
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6.

Answer any FIVE Questions
All Questions carry equal marks
* % * * K

(a) Explain why an induction motor cannot develop torque when running at Syn-
chronous speed?

(b) Explain clearly what you understand by slip-torque characteri ndicate
the Normal operating region in the above characteristics? 8+8]
€ .

(a) Explain the constructional details of a Transformer with s es
(b) The required voltage ratio in a single Phase €r er 98 5000 v/250 v.
r

Supply frequency is 50 Hz. Find the number o in each winding if the
flux is to be about 0.05 wb. [8+8]

(a) Give the applications of self excited ge

(b) An 8 pole d.c. shunt generato ave connected armature conductors
and running at 500 rp liesta load of 12.5¢ resistance at terminal voltage
of 50V. The arma esistamce is 0.24€) and the field resistance is 250¢2. Find

the armature cur induced emf and the flux per pole. [6+10]

(a) How is ghe am focused to a fine spot on the face of the cathode ray
tube

an attenuator probe used for measurements with oscilloscope?

(b
(c) Whatsis delayed sweep? Why it is used in oscilloscopes? [6+44-6]

)

)
(a) State and explain Kirchoff’s laws.
(b)

b) Apply KCL and KVL to determine current through 1€ resistor in the network
shown in figure 5b. [6410]
283
PRV
% 252
20 é %m
483 I
8V av
Figure 5b

(a) With neat sketch explain the working of center tap full wave rectifier?
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(b) In center tap full wave rectifier, the maximum voltage across half of secondary
winding is 50V and load resistance is 200 ohms. Find the average load voltage
and PIV 7 Assume the diodes to be ideal. [8+8]

7. (a) The transistor has Iocpo = 48nA and a = 0.992.
i. Find ﬁ and ICEO?
ii. Find its collector current when Ip = 30 pA ?
iii. Find the approximate collector current neglecting leakage current?

(b) Draw and explain the input and output characteristics of Common Base Con-
figuration. [8+8]

8. (a) Discuss the classification of electrical measuring instrument ed for
measurement of current.

(b) Explain the significance of controlling torque and dampingftorque relevant to

the Operation of indicating instruments? [6+10]
* kK K K V%

of7
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1. (a) State and explain Kirchoff’s laws.

(b) Apply KCL and KVL to determine current through 1€ resistor in the network

shown in figure 1b. [6+10]
282
EATAVA)
% 282
20 é 152
42 I
v av
Figure 1b

2. (a) Explain the constructional details of a Transformer with neat sketches.

(b) The required voltage.ratio in a single Phase Transformer is 5000 v/250 v.
Supply frequency'is 50 Hz. Find the number of turns in each winding if the
flux is to he about 0.05 wb. [8+8]

3. (a) Withyneat sketch explain the working of center tap full wave rectifier?

(b) In center tap full wave rectifier, the maximum voltage across half of secondary
winding is 50V and load resistance is 200 ohms. Find the average load voltage
and PIV 7 Assume the diodes to be ideal. 848

4. (a) Give the applications of self excited generators.

(b) An 8 pole d.c. shunt generator with 778 wave connected armature conductors
and running at 500 rpm supplies a load of 12.5€2 resistance at terminal voltage
of 50V. The armature resistance is 0.24€2 and the field resistance is 250¢2. Find

the armature current, the induced emf and the flux per pole. [6+10]

5. (a) How is the electron beam focused to a fine spot on the face of the cathode ray
tube?

(b) Why is an attenuator probe used for measurements with oscilloscope?

(c) What is delayed sweep? Why it is used in oscilloscopes? [6-+4+6]
6. (a) The transistor has Icpo = 48nA and o = 0.992.
i. Find 8 and Icgo?
5
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ii. Find its collector current when Iy = 30 pA 7

iii. Find the approximate collector current neglecting leakage current?

(b) Draw and explain the input and output characteristics of Common Base Con-
figuration. [8+8]

7. (a) Explain why an induction motor cannot develop torque when running at Syn-
chronous speed?

(b) Explain clearly what you understand by slip-torque characteristics. Indicate
the Normal operating region in the above characteristics? [8+-8]

8. (a) Discuss the classification of electrical measuring instruments emaployed for
measurement of current.

(b) Explain the significance of controlling torque and dampig® torquéyrelevant to

the Operation of indicating instruments? [6410]

s
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1. (a) The transistor has Icpo = 48nA and a = 0.992.
i. Find § and Iogo?

ii. Find its collector current when Ip = 30 pA 7
iii. Find the approximate collector current neglecting leakéige ctgrent?
(b) Draw and explain the input and output character m ase Con-
[

istic§ o
figuration. 8+8|
2. (a) State and explain Kirchoff’s laws.

(b) Apply KCL and KVL to determine cu thiough 1€ resistor in the network
shown in figure 2b. P [6+10]
252

PATAV AN

‘ 20 é %29 élﬂ

LTy 1
A\ "

Figure 2b

3. (a) Give the applications of self excited generators.

(b) An 8 pole d.c. shunt generator with 778 wave connected armature conductors
and running at 500 rpm supplies a load of 12.5€2 resistance at terminal voltage
of 50V. The armature resistance is 0.24€2 and the field resistance is 250€2. Find
the armature current, the induced emf and the flux per pole. [6+10]

4. (a) Explain why an induction motor cannot develop torque when running at Syn-
chronous speed?
(b) Explain clearly what you understand by slip-torque characteristics. Indicate
the Normal operating region in the above characteristics? [8+8]
5. (a) Explain the constructional details of a Transformer with neat sketches.

(b) The required voltage ratio in a single Phase Transformer is 5000 v/250 v.
Supply frequency is 50 Hz. Find the number of turns in each winding if the
flux is to be about 0.05 wb. [8+8]
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6. (a) How is the electron beam focused to a fine spot on the face of the cathode ray
tube?

(b) Why is an attenuator probe used for measurements with oscilloscope?

)

(c) What is delayed sweep? Why it is used in oscilloscopes? [6-+4+6]
)
)

With neat sketch explain the working of center tap full wave rectifier?

7. (a
(b

In center tap full wave rectifier, the maximum voltage across half of secondary

winding is 50V and load resistance is 200 ohms. Find the average load voltage
and PIV 7 Assume the diodes to be ideal. [8+8]

8. (a) Discuss the classification of electrical measuring instruments yed for

measurement of current.
(b) Explain the significance of controlling torque and dampiflg touequdyrelevant to
the Operation of indicating instruments? E [6+10]
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